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[bookmark: _Ref488331639]Introduction
[bookmark: _Ref178064866]This paper is to discuss the left issues on sidelink SL DRX RTT timer
· Working assumption: SL HARQ RTT timer can be derived from the retransmission resource timing when the SCI indicates a retransmission resource. FFS whether explicitly configured SL HARQ RTT timer may be still required. If big problem is identified next meeting, we can revisit it. 
[bookmark: _Toc67496823][bookmark: _Toc67496825][bookmark: _Toc67493708][bookmark: _Toc67496836][bookmark: _Toc67493709][bookmark: _Toc67496837]Discussion
According to the RAN2#113bis-e discussion
· Working assumption: SL HARQ RTT timer can be derived from the retransmission resource timing when the SCI indicates a retransmission resource. FFS whether explicitly configured SL HARQ RTT timer may be still required. If big problem is identified next meeting, we can revisit it. 
The opponents tend to rely on the indication in N-th transmission to find the resource at N+1)-th transmission, so arguing against the necessity of the RTT / retransmission timer.
The issue is whether the linkage / indication from N-th transmission to (N+1)-th is valid.
Firstly, RX UE may not be aware of the TX pool used by TX UE, due to configuration coming from different nodes. RX UE can only calculate the retransmission resource by RX pool in this case. One fact is the time resources in Tx pool (i.e., used by Tx UE to indicate the gap between N-th and (N+1)-th resource) may not be the same as the time resources in Rx pool (i.e., used by Rx UE to derive (N+1)-th resource via the gap). E.g., Tx-pool may be just for odd slots, but Rx-pool may cover all slots without differentiating odd / even slots.
[bookmark: _Toc70455169]Rx-UE cannot derive the (N+1)-th resource using RX pool considering Tx pool and Rx pool asymmetry. 
Secondly, even if one consider the issue under the assumption of exactly same time resources between Tx pool and Rx pool (which is not valid assumption), by forcing RTT timer to stop at the drived (N+1)-th resource is to restrict the (possible) resource reselection to happen after the previously selected resource. It is not feasible since as defined in RAN1 spec, the reselected resource may be located before the previously selected resource, which is important to address the PDB requirement of the data.
[bookmark: _Toc70455170]The reselected resource may be located before the previously selected resource to address the PDB requirement. 
Given the infeasiblity above, and especially considering the RTT timer as configured value works as baseline scheme for other cases anyway (e.g., where N-th transmission did not indicate N+1-th transmission), there is no need to agree on a second handling here.
Proposal 1 [bookmark: _Toc65073781][bookmark: _Toc70455171]RAN2 revert the WA that “SL HARQ RTT timer can be derived from the retransmission resource timing when the SCI indicates a retransmission resource”. 

Conclusion
We have the following observations:
Observation 1	Rx-UE cannot derive the (N+1)-th resource considering Tx pool and Rx pool asymmetry.
Observation 2	The reselected resource may be located before the previously selected resource to address the PDB requirement.

We have the following proposals:
Proposal 1	RAN2 revert the WA that “SL HARQ RTT timer can be derived from the retransmission resource timing when the SCI indicates a retransmission resource”.
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